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1. Drinking alcohol causes more frequent urination because – 

 (a) Alcohol contains caffeine and theobromine 

 (b) Alcohol inhibits ADH secretion which increases water absorption in uriniferous 
tubules. 

 (c) Alcohol enhances ADH secretion that causes non-absorption of water in nephron. 

 (d) Alcohol causes increased ultrafilteration in Malpighian corpuscles. 
 

2. R.Q. is less than one when – 

 (a) Glucose is oxidised.  (b) Organic acids are oxidised. 

 (c) Fats are oxidised.  (d) Sucrose is oxidised. 
 

3. The hepatic portal vein drains blood from – 

 (a) Heart   (b) Stomach 

 (c) Kidneys   (d) Gastro-intestinal tract 
 

4. Name the structural analog of vitamin ‘K’, which is used as anticoagulant. 

 (a) Dicumarol (b) Tocopherol (c) Ergocalciferol (d) b-carotene 
 

5. Secretin and cholecystokinin are digestive hormones. They are secreted in – 

 (a) Pyloric stomach  (b) Duodenum 

 (c) Ileum   (d) Oesophagus 
 

6. Myxodema is a disease caused by – 

 (a) hypersecretion of thyroxine hormone in children. 

 (b) hypersecretion of thyroxine hormone in adults. 

 (c) hyposecretion of thyroxine hormone in children. 

 (d) hyposecretion of thyroxine hormone in adults. 
 

7. Most of the enzymic hydrolysis occurs in which part of the alimentary canal and from 
which digestive gland ? 

 (a) stomach and salivary gland 

 (b) small intestine and pancreas 

 (c) large intestine and Brunner gland 

 (d) oral cavity and liver 
 

8. ‘Oxyntic cells’ secrete 

 (a) Pepsin (b) HCl (c) Trypsin (d) Bile 
 

9. Which of the following is called the ‘pace maker’ of heart beat ? 

 (a) Atrio-ventricular node (b) Bundle of His 

 (c) Sinoatrial node  (d) Cardiac ganglion 
 

10. Glucose reabsorption occurs in the  

 (a) Proximal tubule  (b) Loop of Henle 

 (c) Distal tubule   (d) Medullary collecting duct 
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1.  ()              – 

 (a)         
 (b)  .. (ADH)              

    
 (c)  ... (ADH)          ()    

     
 (d)            

 

2.           ? 

 (a)       (b)        
 (c)       (d)       

 

3.        _________    
 (a)   (b)   (c)   (d)    
 

4.  ‘K’            ,    
 (a)  (Dicumarol) (b)  
 (c)    (d)   

 

5.            – 

 (a)     (b)  ()  
 (c)  ()   (d)  ()  
 

6.        – 

 (a)        (b)        
 (c)        (d)        
 

7.   ()                 ? 

 (a)      (b)    
 (c)      (d)     

 

8. ‘ ’    – 

 (a)  (b)   (c)  (d)  

 

9.            ? 

 (a) -   (b)    
 (c) -   (d)   

 

10.      – 

 (a)     (b)     
 (c)      (d)     



Series-A 4 BLY 

11. During the development of hen’s egg, which extra embryonic membrane provides nutrition 
to the developing embryo ? 

 (a) Amnion (b) Chorion (c) Yolk sac (d) Allantois 
 

12. During spermatogenesis, spermatids transform into spermatozoa by the process of – 

 (a) Apoptosis (b) Spermiogenesis (c) Cleavage (d) Multiplication 
 

13. Sperm capacitation occurs in – 

 (a) Rete testis   (b) Epididymis 

 (c) Vas deferens   (d) Female reproductive tract 
 

14. The force/power of propulsion of sperm is provided by 

 (a) Dynein (b) Sub-fiber A (c) Sub-fiber B (d) Nexin 
 

15. Polyinvagination islands is the characteristic feature of gastrulation in case of – 

 (a) Sea urchin (b) Amphibians (c) Mammals (d) Birds 
 

16. Which type of placenta found in human ? 

 (a) Haemo-endothelial  (b) Endothelio-chorial 

 (c) Haemo-chorial  (d) Syndesmo-chorial 
 

17. Superficial blastula or peri blastula is found in – 

 (a) Insects (b) Echinoderms (c) Birds (d) Coelenterates 
 

18. Frog’s egg is – 

 (a) Centrolecithal and macrolecithal (b) Isolecithal and mesolecithal 

 (c) Alecithal and mesolecithal (d) Telolecithal and mesolecithal 
 

19. Which of the following structure is found only in Lichens ? 

 (a) Haustoria (b) Cortex (c) Soredia (d) Mycelium 
 

20. Which of the following is a parasitic algae ? 

 (a) Anabaena cycadearum (b) Endophyton ramosum 

 (c) Cephaleuras sp.  (d) Phormidium sp. 
 

21. Viroids are those – 

 (a) having genetic material DNA 

 (b) having genetic material RNA, surrounded by protein coat. 

 (c) having genetic material DNA, surrounded by protein coat. 

 (d) having genetic material RNA, not surrounded by protein coat. 
 

22. Which of the following organism has cell wall composed of peptidoglycan ? 

 (a) Fungi (b) Bryophyte (c) Bacteria (d) Pteridophyte 
 

23. Pteridophytes differs from bryophytes in having – 

 (a) Motile male gametes (b) Alternation of generation 

 (c) Antheridia   (d) Vascular tissue 
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11.            ,       ? 

 (a)  (b)  (c)   (d)  

 

12.                ? 

 (a)  (b)  (c)  (d)  

 

13.       – 

 (a)   (b)   (c)    (d)     
 

14.         – 

 (a)  (b)  -A() (c)  -B() (d)  

 

15.              ? 

 (a) -  (b)   (c)   (d)   
 

16.          ? 

 (a) -  (b) - 
 (c) -   (d) - 

 

17.        
 (a)   (b)   (c)   (d)   
 

18.      
 (a)    (b)    
 (c)     (d)    

 

19.             ? 

 (a)  (b)  (c)  (d)  

 

20.         ? 

 (a)    (b)   
 (c)    (d)   

 

21.    – 

 (a)    ...    
 (b)         ...    
 (c)         ...     

 (d)        ...    

 

22.       -      ? 

 (a)  (b)  (c)  (d)  

 

23.      /  ? 

 (a)    (b)   (c)  (d)   
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24. In which of the following groups would you place a plant which produces spores and 

embryos but lacks seeds and vascular tissue ? 

 (a) Bryophytes (b) Pteridophytes (c) Gymnosperms (d) Algae 
 

25. Algae are classified into major group on the basis of – 

 (a) Nature of reserve food products (b) Chemical composition of cell wall 

 (c) Vegetative characters (d) Types of pigments 
 

26. Horse-tail belongs to – 

 (a) Psilophytopsida  (b) Psilotopsida 

 (c) Sphenopsida   (d) Pteropsida 
 

27. In which geologic era gymnosperms were present in the form of dominant vegetation ? 

 (a) Mesozoic (b) Coenozoic (c) Palaeozoic (d) None of these 
 

28. Which of the following causes food poisoning due to consumption of raw eggs ?  

 (a) Salmonella typhi  (b) Escherichia coli  

 (c) Bacillus megatherium (d) Clostridium botulium 
 

29. The type of bacteria that bear one flagellum at each end is known as – 

 (a) Amphitrichous  (b) Lophotrichous 

 (c) Peritrichous   (d) Cephalotrichous 
 

30. In Fabaceae the gynoecium is – 

 (a) Monocarpellary  (b) Bicarpellary 

 (c) Tricarpellary   (d) Multicarpellary 
 

31. Pectose is found in the cell wall of – 

 (a) Mucor (b) Cycas root cells (c) Rhizopus hypha (d) Spirogyra 
 

32. Atropha belladona, an important medicinal plant, is of the family 

 (a) Liliaceae (b) Cucurbitaceae (c) Cruciferae (d) Solanaceae 
 

33. Male gametes in ferns are  

 (a) Biciliate (b) Quadriciliate (c) Multiciliate (d) Non-ciliate 
 

34. The gram positive bacteria is – 

 (a) Escherichia coli  (b) Staphylococcus 

 (c) Salmonella enterica  (d) Haemophilus influenzae 
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24.         ,       ,     
     ;     ? 

 (a)  (b)  (c)  (d)  

 

25.             ? 

 (a)          
 (b) -        
 (c)       
 (d)         

 

26. -   
 (a)    (b)   
 (c)     (d)   
 

27.             ? 

 (a)  (b)  (c)  (d)     

 

28.           -     ? 

 (a)    (b)   
 (c)    (d)   

 

29.             ,     
 (a)  (b)  (c)  (d)  

 

30.      
 (a)  (b)  (c)  (d)  

 

31. ‘’  -     ? 

 (a)   -  (b)       
 (c)    -  (d)   -  
 

32.            
 (a)  (b)  (c)  (d)  

 

33.       – 

 (a)  (b)  (c)  (d)  

 

34.      
 (a)    (b)  
 (c)    (d)   
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35. Which of the following statements is incorrect ? 

 (a) Azolla is used as biofertilizer. 

 (b) Bryophytes are called “Amphibians of plant kingdom”. 

 (c) Tetradynamous condition of stamen is found in family cruciferae. 

 (d) Drosera is called ‘Venus fly trap’. 
 

36. “Late blight of Potato” is caused by – 

 (a) Albugo candida  (b) Phytophthora infestans 

 (c) Alternaria solani  (d) Fusarium moniliforme 
 

37. The algae Phaeophyceae is characterized by the presence of which pigment ? 

 (a) Fucoxanthium   (b) Phycocyanin 

 (c) Haematochrome and phycoxanthium (d) Phycoerythrin 
 

38. ‘Yellow rust’ of wheat is caused by – 

 (a) Puccinia striiformis  (b) Puccinia recondita  

 (c) Puccinia graminis tritici (d) Ustilago tritici 
 

39. Turpentine oil is obtained from the resin of which plant ? 

 (a) Jatropha (b) Pinus (c) Eucalyptus (d) Cedrela 
 

40. Agar-agar is obtained from 

 (a) Gracilaria (b) Chlorella (c) Chara (d) Sargassum 
 

41. The ability of a cell to grow into a complete plant is called – 

 (a) Somaclonal variation (b) Cellular totipotency 

 (c) Protoplasmic fusion  (d) Tissue culture 
 

42. Which one of the following fungi is used as antibiotic ? 

 (a) Penicillium (b) Polystictus (c) Aspergillus (d) All of these 
 

43. Which one of the following is a viral disease ? 

 (a) Bacterial blight  (b) Fusarium blight 

 (c) Corn mosaic   (d) None of the above 
 

44. Cry-I endotoxins obtained from Bacillus thuringiensis are effective against – 

 (a) Nematodes (b) Boll worms (c) Mosquitoes (d) Flies 
 

45. The source of drug “Cocaine” is – 

 (a) Erythroxylum coca  (b) Coccinia indica  

 (c) Cola nitida   (d) Theobroma caco 
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35.          ? 

 (a)             
 (b)   ‘   ’     
 (c)            
 (d)   “  ”    

 

36. ‘    ( )’     – 

 (a)     (b)   
 (c)    (d)   
 

37.            ? 

 (a)    (b)   
 (c)    (d)  

 

38.   ‘ ’     
 (a)    (b)   
 (c)    (d)   

 

39.            ? 

 (a)  (b)  (c)  (d)  

 

40. ‘-’      
 (a)   (b)   (c)   (d)   
 

41.                 – 

 (a)    (b)   
 (c)    (d)   

 

42.            ? 

 (a)  (b)  (c)  (d)   

 

43.        ? 

 (a)    (b)   
 (c)     (d)      

 

44.         -I (Cry I)      ? 

 (a)   (b)    (c)   (d)   
 

45. ‘’     – 

 (a)    (b)    
 (c)     (d)   



Series-A 10 BLY 

46. Synthetic seed is produced by encapsulating somatic embryos with – 

 (a) Sodium chloride  (b) Sodium alginate 

 (c) Sodium acetate  (d) Sodium nitrate 
 

47. Commercially important cotton fibres are – 

 (a) epidermal hairs of seeds (b) woody fibres of roots 

 (c) phloem fibres of roots (d) bart fibres of stem 
 

48. Which one of the following plant varieties have higher CO2 compensation point but 

optimum temperature ranges for photosynthesis are low ? 

 (a) C4 plants   (b) C3 plants 

 (c) Both C3 and C4 plants (d) None of the above 
 

49. Leghaemoglobin in root nodules of legumes brings which of the following condition ? 

 (a) Decreases nutrients in the nodules (b) Increases CO2 concentration in nodules 

 (c) Increases O2 concentration in nodules (d) Deceases O2 concentration in nodules 
 

50. The organelle which is associated with photorespiration is – 

 (a) Lysosome (b) Glyoxysome (c) Ribosome (d) Peroxysome 
 

51. Loss of water from the tips of leaves is called  

 (a) Guttation (b) Transpiration (c) Respiration (d) Bleeding  
 

52. Decrease rate of photosynthesis at high concentration of oxygen is referred to as – 

 (a) Pasteur effect   (b) Emerson effect 

 (c) Warburg effect  (d) Richmond-Lang effect 
 

53. Circadian rhythms in plants are chiefly regulated by – 

 (a) Phycobillins (b) Phytochromes (c) Phototropins (d) None of these 
 

54. The precursor substance which is used in the synthesis of auxin, Indole 3-Acetic acid is – 

 (a) Tyrosine (b) Tryptophan (c) Acetylcystine (d) Mevalonic acid 
 

55. In photosynthesis, which of the following absorb light energy of sun and changes it to 
chemical energy ? 

 (a) Chlorophyll b (b) Chlorophyll c (c) Chlorophyll a (d) Xanthophyll 
 

56. Plants utilize nitrogen in the form of – 

 (a) Molecular nitrogen  (b) Atomic nitrogen 

 (c) Nitrite   (d) Nitrate 
 

57. The transport form of sugar in plants is – 

 (a) Sucrose (b) Starch (c) Ribose  (d) Glucose 
 

58. Deficiency of which of the following element causes chlorosis ? 

 (a) Chlorine (b) Calcium (c) Sodium (d) Manganese 
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46.              ? 

 (a)   (b)   (c)   (d)   

 

47.        – 

 (a)      (b)     
 (c)      (d)     
 

48.         CO2     ,  - 
   -    ? 

 (a) C4    (b) C3   
 (c) C3  C4      (d)      

 

49.                ? 

 (a)         (b)   CO2      
 (c)   O2      (d)   O2       

 

50.        – 

 (a)  (b)  (c)  (d)  

 

51.           – 

 (a)  (b)  (c)  (d)  

 

52.      -          – 

 (a)   (b)   (c)   (d) -  

 

53.             ? 

 (a)  (b)  (c)  (d)     

 

54.    ,  3-       ,   – 

 (a)  (b)  (c)   (d)   
 
55. - ,                 

   ? 

 (a)   (b)   (c)   (d)  

 

56.       – 

 (a)      (b)      
 (c)      (d)     
 

57.           ? 

 (a)  (b)  (c)  (d)  

 

58.            ? 

 (a)  (b)  (c)  (d)  
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59. During photosynthesis the energy in excited electrons of various pigments be transferred to 
an energy collecting pigment, referred to as – 

 (a) Energy center   (b) Reaction center 
 (c) Absorption center  (d) None of the above 
 

60. In the leaves, yellow to yellow-orange colour is because of following pigment :  
 (a) Chlorophyll a (b) Chlorophyll b (c) Xanthophills (d) Carotenoids 
 

61. Find the odd one out : 
 (a) Indole butyric acid – Auxin (b) Phenyl acetic acid – Gibberellin 
 (c) Kaurenoic acid – Gibbaellin (d) Zeatin – Cytokinin 
 

62. The hormone which has negative effect on apical dominance is – 
 (a) Cytokinin (b) Auxin (c) Gibberlin (d) IAA 
 

63. Which of the following is cytokinin ? 
 (a) Zeatin (b) Kinetin (c) Benzyladenine (d) All of the above 
 

64. Coconut fruit is a  
 (a) Drupe (b) Berry (c) Nut (d) Capsule 
 

65. An ovule which becomes curved so that the nucleus and embryo sac lie at right angles to 
the funicle is – 

 (a) Anatropous (b) Orthotropous (c) Hemianatropous (d) Campylotropous 
 

66. In gymnosperms, the endosperm is – 
 (a) Triploid (b) Diploid (c) Haploid (d) Polyploid 
 

67. The edible part of ripe mango is morphologically – 
 (a) Epicarp (b) Mesocarp (c) Pericarp (d) Endocarp 
 

68. In pteridophytes if a sporangium develops from a group of cells is called as  
 (a) Leptosporangiate  (b) Eusporangiate 
 (c) Heterosporangiate  (d) Parthenogenesis 
 

69. ‘Nemec phenomenon’ is the occurrence of  
 (a) Embryos inside the pollen grains 
 (b) Prothallial cells inside the pollen grains 
 (c) Pollen embryo sac 
  (d) Double pollen grains 
 

70. Functional megaspore in an angiosperm develops into 
 (a) Ovule (b) Endosperm (c) Embryo sac (d) Embryo 
 

71. Viruses synthesize their protein coats – 
 (a) Inside the host cells 
 (b) Outside the host cells 
 (c) Both outside as well as inside the host cell 
 (d) None of these 
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59. -                
   ,    – 

 (a)   (b)   (c)   (d)      

 

60.    -          
 (a)   (b)   (c)  (d)  

 

61.      
 (a)    –  (b)    –  
 (c)   –  (d)  –  

 

62.          – 

 (a)  (b)  (c)  (d) ... 
 
63.      ? 

 (a)  (b)  (c)  (d)   

 

64.      – 

 (a)   (b)   (c)   (d)   

 

65.   ,          ,     
  ,    ? 

 (a)  (b)  (c)  (d)  

 

66.     – 

 (a)  (b)  (c)  (d)  

 

67.             – 

 (a)   (b)  (c)  (d)  
 

68.    ,       ,     ? 

 (a)  (b)  (c)  (d)   

 

69. ‘ ’   – 

 (a)      (b)      
 (c)      (d) - 

 

70.            ? 

 (a)  (b)  (c)   (d)  

 

71.         – 

 (a)      (b)     
 (c)         (d)     
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72. Which cell organelle is involved with detoxification of drug ? 

 (a) Endoplasmic reticulum (b) Ribosome 

 (c) Golgi body   (d) Lysosome 
 

73. Movement of cytoplasm inside the cell is known as  

 (a) Diffusion (b) Solifluction (c) Cyclosis (d) Gelifluction 
 

74. Cytochromes are found in 

 (a) Mitochondrial matrix (b) Mitocondria cristae 

 (c) Lysosomes   (d) Mitochondrial outer wall 
 

75. The programmed cell death is also known as – 

 (a) Totipotency (b) Autopsy (c) Apoptosis (d) Cladotopsis 
 

76. ATP releases energy when it is – 

 (a) Oxidized (b) Phosphorylated (c) Dehydrogenated (d) Hydrolysed 
 

77. CD4 + T-cells are called  

 (a) Killer T-cells (b) Histiocytes (c) Helper T-cells (d) Phagosomes 
 

78. Cancer is – 

 (a) Uncontrolled mitosis (b) Uncontrolled DNA replication 

 (c) Totipotency   (d) Uncontrolled meiosis 
 

79. The tertiary structure of tRNA takes the shape of  

 (a) Clover leaf (b) Inverted ‘J’ (c) Inverted ‘T’ (d) Inverted ‘L’ 
 

80. Point mutation involves 

 (a) Deletion   (b) Insertion 

 (c) Duplication   (d) Change in single base pair 
 

81. When a certain character is inherited only through the female parent, it probably represents 

the case of –  

 (a) Incomplete dominance (b) Cytoplasmic inheritance 

 (c) Mendalian nuclear inheritance  (d) Multiple plastid inheritance  
 

82. Exchange of two non-homologus chromosomes is known as  

 (a) Crossing over   (b) Reciprocal translocation 

 (c) Inversion   (d) Duplication 
 

83. Trisomic condition is expressed as – 

 (a) 2n – 1 (b) 2n + 2 (c) 2n + 1 (d) 2n – 2 
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72.            ? 

 (a)    (b)   
 (c)     (d)  

 

73.          
 (a)  (b)  (c)  (d)  

 

74.     – 

 (a)     (b)     
 (c)     (d)      
 

75. ‘  ’            ? 

 (a)   (b)   (c)  (d)  

 

76. ...        

 (a)      (b)     
 (c)     (d)      

 

77. CD4 + T    – 

 (a)  T   (b)   
 (c)  T-  (d) - 

 

78.   – 

 (a)     (b)  ...  
 (c)     (d)    

 

79. tRNA           ? 

 (a)   (b)  ‘J’ (c)  ‘T’ (d)  ‘L’ 

 

80.       – 

 (a)    (b)  
 (c)    (d)      

 

81.                   – 

 (a)     (b)    
 (c)    (d)    

 

82. -       ? 

 (a)     (b)   
 (c)    (d)  

 

83.           
 (a) 2n – 1 (b) 2n + 2 (c) 2n + 1 (d) 2n – 2 
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84. Rhodopsin-a pigment found in – 

 (a) Skin of mammals  (b) Bile juice 

 (c) Retinal cells   (d) Red blood cells 
 

85. Alpha helix structure represents – 

 (a) Primary structure of proteins (b) Secondary structure of proteins 

 (c) Tertiary structure of proteins (d) Quaternary structure of proteins 
 

86. Which of the following process in splicing converts pre-mRNA to mature mRNA ? 

 (a) stitching of introns 

 (b) stitching of exons together and excising of introns. 

 (c) stitching of exons and introns together  

 (d) separating about 180 mbp of pre-mRNA 
 

87. The diameter of Z-DNA molecule is 

 (a) 20 Å (b) 22 Å (c) 16 Å (d) 18 Å 
 

88. The entire collection of expressed protein in an organism is known as – 

 (a) Transcriptome (b) Proteome (c) Primosome (d) Palindrome 
 

89. A biochemist measures the amount of DNA in cells growing in laboratory. The amount of 
DNA would be found to double in ________. 

 (a) Between prophase and anaphase of mitosis 

 (b) After G2 phase of the cell cycle 

 (c) During the ‘M’ phase of the cell cycle 

 (d) Between prophase-I and prophase-II of meiosis 
 

90. Which among the following statement is true about saturated fat ? 

 (a) Saturated fats contain one or more double bonds along hydrocarbon tail. 

 (b) Saturated fats contain the maximum number of hydrogen along hydrocarbon tail. 

 (c) Saturated fats are found in majority of plant lipids. 

 (d) Saturated fats are healthier than unsaturated fats. 
 

91. Changing one amino acid within a protein would change its ________. 

 (a) Primary structure 

 (b) Overall three dimensional structure of protein 

 (c) Change in the function of protein 

 (d) All of the above  
 

92. Which of the following is not directly involved in protein synthesis ? 

 (a) t-RNA (b) m-RNA (c) Sn-RNA (d) r-RNA 
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84. -     – 

 (a)      (b)    
 (c)      (d)     
 

85.       ? 

 (a)     (b)     
 (c)     (d)     

 

86.        -mRNA   mRNA     ? 

 (a)      
 (b)           
 (c)         
 (d) -mRNA  180 mbp     

 

87. -...     
 (a) 20  (b) 22  (c) 16  (d) 18  

 

88.            
 (a)  (b)  (c)  (d)  

 

89.           ...     , ... 
    – 

 (a)           
 (b)    G2 (-2)     

 (c)    ‘M’     

 (d)    -I  -II      

 

90.              ? 

 (a)           -    
 (b)              
 (c)            
 (d)           

 

91.             ? 

 (a)     (b)    -  
 (c)      (d)   

 

92.            ? 

 (a) t-RNA (b) m-RNA (c) Sn-RNA (d) r-RNA 
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93. Within a gene recon is a unit of – 

 (a) Function   (b) Recombination 

 (c) Mutation   (d) Deletional unit of gene 
 

94. Mitochondrial DNA differs from nuclear DNA in – 

 (a) Being linear   (b) Being circular 

 (c) Having A!º T and C = G (d) Being highly twisted 
 

95. Which one of the following is known as chemical ‘knifes of DNA’ ? 

 (a) Polymerases (b) Endonucleases (c) Ligases (d) Transferases 
 

96. Lampbrush chromosomes involves in the synthesis of – 

 (a) DNA (b) RNA (c) RNA and Protein (d) Gene 
 

97. Which of the following has anticodon ? 

 (a) Sn-RNA (b) rRNA (c) tRNA (d) mRNA 
 

98. Polyploidy is induced through – 

 (a) Colchicine   (b) Ethylene  

 (c) Irradiation   (d) Mutagenic chemicals 
 

99. The cell organelle which do not have DNA is 

 (a) Nucleus (b) Golgibody (c) Mitochondria (d) Chloroplast 
 

100. The function of Topoisomerases is to – 

 (a) Nick and seal a DNA strand (b) Form the replication fork 

 (c) Synthesis of RNA primer (d) None of the above 
 

101. Mitosis promoting factor has two key sub-units – one is catalytic and the other is 

regulatory. Which one of the following is the regulatory sub-unit ? 

 (a) cdk (b) cyclin (c) dynein (d) dynactin 
 

102. A molecular alteration in chromosome that generally accompanies chromosomes 

condensation during mitosis is – 

 (a) Phosphorylation of cdc-2 protein (b) phosphorylation of cyclin B protein 

  (c) Phosphorylation of histone H-1 (d) tangling of sister chromatids 
 

103. Peroxisomes are rich in – 

 (a) DNA   (b) RNA 

 (c) Catalytic enzymes  (d) Oxidative enzymes 



BLY 19 Series-A 

93.     ‘’        ? 

 (a)    (b)   
 (c)    (d)       
 

94.   ...  ...    ,   – 

 (a)       (b)      
 (c) A º T  C = G    (d)      

 

95.     ...  ‘ ’    ? 

 (a)  (b)  (c)  (d)  

 

96.        – 

 (a) ...   (b) ...  
 (c) ...    (d)  

 

97.          ? 

 (a) Sn-RNA (b) rRNA (c) tRNA (d) mRNA 
 

98.  ()      – 

 (a)     (b)    
 (c)      (d)     

 

99.    ...  ,   – 

 (a)  (b)  (c)  (d)   

 

100.     – 

 (a) ...       
 (b)    
 (c) ...    
 (d)      

 

101.    (MPF)      -        
         ? 

 (a) cdk (b)  (c)  (d)  

 

102.             ,      
    ? 

 (a) cdc-2    (b)  B    
 (c)  H-1   (d)  ( )    

 

103.            ? 

 (a) ... (b) ... (c)   (d)   
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104. Golgi complex is found in – 
 (a) All the cells 
 (b) All the cells except RBC 
 (c) All the cells except prokaryotic cells and RBCs 
 (d) All the animal cells and bacterial cells 
 

105. Most human cells are surrounded by an aqueous solution called  
 (a) Lymph (b) Plasma (c) Interstitial fluid (d) Serum 
 

106. Who propounded the ‘cell theory’ ? 
 (a) Robert Hooke   (b) Leeuwenhoek  
 (c) Schleiden and Schwaan (d) Mendal 
 

107. “Ramchandran Plot” is related to structural organization of following molecule : 
 (a) Carbohydrate (b) Lipid (c) Protein (d) Nucleic acid 
 

108. Svedberg’s unit stands for the measurement of the following : 
 (a) Plasma membrane  (b) Nucleic acid 
 (c) Fatty acid   (d) Ribosome 
 

109. Exchange of chromosome segments between maternal and paternal chromatids during 
meiosis is called –   

 (a) Synapsis (b) Linkage (c) Crossing over (d) Zygotene 
 

110. Extra chromosomal inheritance is exhibited by the following : 
 (a) Lysosome   (b) Golgi body 
 (c) Endoplasmic reticulum (d) Mitochondria 
 

111. The phenomenon of Industrial melanism demonstrates – 
 (a) Induced mutation  (b) Reproductive isolation 
 (c) Natural selection  (d) Geographic isolation 
 

112. Match the statement of I with II, according to geological time scale :  

I II 

A. Age of Man i. Cretaceous period 
B. Extinction of Dinosaurs ii. Ordovician period 
C. Dominance of fish iii. Quaternary period 
D. Rise of Armoured fish iv. Devonian period 

  A B C D 
 (a) iii i ii iv 
 (b) iii ii iv i 
 (c) iii i iv ii 
 (d) ii iii iv i 
 

113. Stanley Miller, in his experiment in 1953 to synthesize amino acids, used the mixture of 
gases as – 

 (a) Methane, Hydrogen, Nitrogen (b) Methane, Ammonia, Oxygen 
 (c) Methane, Ammonia, Nitrogen (d) Methane, Ammonia, Hydrogen 
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104.      
 (a)     
 (b)    ...    
 (c)       ...    
 (d)         

 

105.              
 (a)  (b)  (c)   (d)  

 

106. ‘ ’    ? 

 (a)   (b)  (c)    (d)  

 

107. ‘ ’        : 
 (a)  (b)  (c)  (d)   

 

108.          
 (a)   (b)   (c)   (d)  

 

109.           -   – 

 (a)     (b)   
 (c)  ( ) (d)  

 

110.           
 (a)  (b)  (c)   (d)  

 

111.     ()    – 

 (a)     (b)    
 (c)     (d)    
 

112.  -   -I  -II       
        I           II 

A.   i.   
B.    ii.   
C.    iii.   
D.     iv   

  A B C D 
 (a) iii i ii iv 
 (b) iii ii iv i 
 (c) iii i iv ii 
 (d) ii iii iv i 
 

113.           (1953)        : 
 (a) , ,  (b) , ,  
 (c) , ,  (d) , ,  
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114. ‘Galapagos Finches’ what Darwin saw at Galapags island are  

 (a) Birds (b) Frogs (c) Lizards (d) Rats 
 

115. Dinosaurs disappeared from the earth about – 

 (a) 100 million years ago (b) 200 million years ago 

 (c) 10 million years ago  (d) 65 million years ago 
 

116. Which one of the following period is called the ‘Age of Fishes’ ? 

 (a) Cambrian (b) Devonian (c) Triassic (d) Tertiary 
 

117. The first genetic material that originated on earth was – 

 (a) RNA (b) DNA (c) Sn RNA (d) cDNA 
 

118. The connecting link between reptiles and mammals is  

 (a) Sauropsida (b) Marsupialia (c) Monotremata (d) Cetacea 
 

119. Mutation was described by – 

 (a) de Vries (b) Lamarck (c) Darwin (d) None of these 
 

120. In humans, which among the following is/are vestigeal organ(s) ? 

 (a) Muscles of the external ears (b) Coccyx 

 (c) Vermiform appendix (d) All of the above 
 

121. The Eohippus lived in – 

 (a) Eocene (b) Oligocene (c) Pleistocene (d) Pliocene 
 

122. The cranial capacity of Cro-Magnon man was  

 (a) 800 cubic centimeters (b) 900 cubic centimeters 

 (c) 1600 cubic centimeters (d) 600 cubic centimeters 
 

123. Lamarck theory of organic evolution is usually known as  

 (a) Natural selection  (b) Inheritance of acquired character 

 (c) Descent with change (d) Continuity of germplasm 
 

124. In a food chain, the 10% energy transfer rule was propounded by – 

 (a) Odum   (b) Elton 

 (c) Lindeman   (d) None of these 
 

125. A zooplankton feeding on a phytoplankton is called – 

 (a) Primary consumer  (b) Secondary producer 

 (c) Primary producer  (d) Both (a) and (b) are correct. 
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114.             – 

 (a)  (b)  (c)  (d)  
 

115.           ? 

 (a) 100     (b) 200    
 (c) 10     (d) 65    
 

116.       ‘  ’   ? 

 (a)  (b)  (c)  (d)  

 

117.          – 

 (a) RNA (b) DNA (c) Sn RNA (d) cDNA 
 

118.         – 

 (a)  (b)  (c)  (d)  

 

119.       ? 

 (a) .  (b)  (c)  (d)     

 

120.          ? 

 (a)     (b)  
 (c)    (d)   

 

121.     
 (a)    (b)    (c)    (d)    
 

122. -     – 

 (a) 800    (b) 900   
 (c) 1600    (d) 600   

 

123.          – 

 (a)     (b)     
 (c)     (d)    

 

124.             
 (a)     (b)    
 (c)     (d)      

 

125.          – 

 (a)     (b)   
 (c)    (d)  (a)  (b)    
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126. Disease named ‘Minimata’ was caused by 

 (a) Cadmium Pollution  (b) Zinc Pollution 

 (c) Mercury Pollution  (d) Cobalt Pollution 
 

127. Which of the following is high green house gas emission food ? 

 (a) Plant-based food  (b) Insect-rich food 

 (c) Meat and dairy products (d) Cellular agricultural products 
 

128. Malathion is a – 

 (a) Organochlorine  (b) Organophosphate 

 (c) Carbamates   (d) None of the above 
 

129. Which one of the following is not a ‘green house’ gas ? 

 (a) CO2 (b) Methane (c) H2 (d) CFS 
 

130. Industries are the sources of – 

 (a) Air pollutant (b) Noise pollutant (c) Water pollutant (d) All of the above 
 

131. The region of Biosphere Reserve which is legally protected and where no human activity is 
allowed is known as – 

 (a) Core zone (b) Buffer zone (c) Transition zone (d) Restoration zone  
 

132. Which one of the following ecosystem type has the highest annual net primary 
productivity ? 

 (a) Tropical deciduous forest (b) Tropical rain forest 

 (c) Temperate deciduous forest (d) Temperate evergreen forest 
 

133. Which one of the following is an example of ex-situ biodiversity conservation ? 

 (a) Biosphere reserve  (b) Gene bank 

 (c) Hot spots   (d) Sanctuary 
 

134. Which one of the following statement is not true about a population in Hardy-Weinberg’s 
equilibrium ? 

 (a) The population is not evolving. 

 (b) Gene flow between the population and surrounding population doesn’t occur. 

 (c) The population is quite small. 

 (d) Natural selection is not occurring. 
 

135. Which of the food chain is directly dependent upon solar radiations ? 

 (a) Grazing  (b) Parasitic (c) Detritus (d) Both (a) and (c) 
 

136. Driving force of ecosystem is – 

 (a) Producer   (b) Carbohydrates found in plants 

 (c) Biomass   (d) Solar energy 
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126. ‘’      – 

 (a)     (b)   
 (c)     (d)   

 

127.              ? 

 (a)     (b)    
 (c)      (d)    

 

128.   – 

 (a)  (b)  (c)  (d)     

 

129.          ? 

 (a) CO2 (b)  (c) H2 (d) CFS 

 

130.    – 

 (a)   (b)   (c)   (d)   

 

131.     ,                
  ,     

 (a)   (b)   (c)   (d)   

 

132.               ? 

 (a)    (b)   
 (c)     (d)    

 

133.         ( ) -     ? 

 (a)     (b)   
 (c)     (d)  

 

134. -                ? 
 (a)       
 (b)            
 (c)      
 (d)        

 

135.          ? 

 (a)    () (b)    
 (c)     (d) (a)  (c)  
 

136.       – 

 (a)    (b)       
 (c)    (d)   
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137. What is called for the rotation of elements in the ecosystem ? 

 (a) Chemical cycle  (b) Bio-Geo-chemical cycle 

 (c) Geological cycle  (d) Biological cycle 
 

138. The main component of mangroves vegetation 

 (a) Ficus (b) Rhizohora (c) Mangifera (d) Prosopis 
 

139. A species selected to represent an environmental cause and symbol for a defined habitat is 
called  

 (a) Flagship species  (b) Umbrella species 

 (c) Keystone species  (d) Indicator species 
 

140. Ramsar convention specifically deals with 

 (a) Endangered species  (b) Wetland conservation 

 (c) Climate change  (d) Biodiversity conservation  
 

141. Which one of the following is a free living nitrogen fixing bacteria ? 

 (a) Azotobactor (b) Rhizobium (c) Streptococcus (d) Clostridium 
 

142. Gel electrophoresis technique is used for  

 (a) Separation of DNA segments (b) Separation of RNA segments 

 (c) Separation of enzymes (d) None of the above 
 

143. Which is not a transgenic plant ? 

 (a) Golden rice (b) Bt cotton (c) Bt brinjal (d) Hybrid rice 
 

144. Callus formation takes place in – 

 (a) Animal cell culture  (b) Cancer cell culture 

 (c) Plant tissue culture  (d) Animal embryo culture 
 

145. Separated DNA fragments after electrophoresis are visualized by the following stain : 

 (a) Eosin   (b) Haematoxyline 

 (c) Ethidium bromide  (d) Orcin 
 

146. Of the following vitamins, which vitamin is essential for callus growth ? 

 (a) Inositol (b) Pyeridoxine (c) Nicotinic acid (d) Thiamine 
 

147. Vesicular Arbuscular Mycorrhizae (VAM) are important in the – 

 (a) Supply of nitrogen to the plants (b) Phosphate nutrition of plants 

 (c) Zinc nutrition of plants (d) Both (a) and (b) above 
 

148. Which of the following are used in Polymerase Chain Reaction (PCR) ? 

 (a) Ligase and EDTA 

 (b) Restriction endonuclease and Agar 

 (c) Ethidium bromide and a plasmid 

 (d) Two sets of primers and DNA polymerase 
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137.           ? 

 (a)     (b) --  
 (c)     (d)   

 

138.       – 

 (a)  (b)  (c)  (d)  

 

139.              ,   
   

 (a)   (b)   (c)    (d)   

 

140. ‘ ’      – 

 (a)     (b)    
 (c)     (d) -  

 

141.            ? 

 (a)  (b)  (c)  (d)  

 

142.        - 

 (a) ...     (b) ...     
 (c)      (d)      

 

143.          ? 

 (a)   (b) Bt  (c) Bt  (d)   

 

144. ‘’        
 (a)      (b)      
 (c)      (d)     
 

145.      DNA            
   

 (a)  (b)  (c)   (d)  

 

146.             ? 

 (a)  (b)  (c)   (d)  

 

147.    ()   – 

 (a)       (b)      
 (c)       (d)  (a)  (b)  
 

148.        ()     ? 

 (a)   EDTA  (b)      
 (c)      (d)      ...  
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149. SNP (snips) in DNA means – 

 (a) Single base pair variation (b) Double base pair variation 

 (c) Local transposition of gene (d) None of the above 
 

150. Human insulin is produced biotechnologically from – 

 (a) Saccharomyces  (b) E. coli  

 (c) Acetobactor   (d) Thermus aquaticus 
 

151. A gene whose expression helps to identify transformed cell is known as – 

 (a) Selective marker  (b) Vector 

 (c) Plasmid   (d) Structural gene 
 

152. Azolla is used as biofertilizer because it  

 (a) multiplies very fast to produce massive biomass. 

 (b) has association of nitrogen fixing Rhizobium. 

 (c) has association of nitrogen fixing cyanobacteria. 

 (d) has association of mycorrhiza. 
 

153. Polymerase used for PCR is extracted from – 

 (a) Escherichia coli  (b) Homo sapiens 

 (c) Thermus aquaticus  (d) Saccharomyces cerevisiae 
 

154. What are the three basic steps of conventional PCR ? 

 (a) Denature, anneal, extension  

 (b) Denature, anneal, strand displacement 

 (c) Strand displacement, synthesis, release 

 (d) Reverse transcription, anneal, extend 
 

155. The useful limit of resolving power of light microscope is  

 (a) 0.2 nanometre   (b) 0.2 micrometre (mm) 

 (c) 10–4 metre (m)  (d) 2.0 nanometre 
 

156. What feature of DNA fragments causes it to move through agarose gel during 
electrophoresis ? 

 (a) its nucleotide sequence. 

 (b) the electrical charges of its phosphate group. 

 (c) the hydrogen bonds between its base pair. 

 (d) its double helix shape. 
 

157. Software used to study DNA sequence alignment is – 

 (a) Window (b) Blast (c) MS-Office (d) Adobe 
 

158. Mean is represented by the following symbol : 

 (a) N (b) X1 (c) 1X (d) X  
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149. ...  ... ()    – 

 (a)      (b) -   
 (c)      (d)      

 

150.        – 

 (a)     (b) .   
 (c)     (d)    
 

151.   ,           ,     – 

 (a)    (b)  
 (c)    (d)   

 

152.           ,  - 

 (a)              
 (b)            
 (c)            
 (d)        

 

153. ...          – 

 (a)     (b)    
 (c)     (d)    
 

154.  ...       
 (a) , ,  (b) , ,   
 (c)  , ,  (d)  , ,  

 

155.           – 

 (a) 0.2    (b) 0.2  (mm)  
 (c) 10–4  (m)   (d) 2.0  

 

156.    ...             ? 

 (a)       
 (b)         
 (c)  ()        

 (d)     

 

157. ...      – 

 (a) WINDOW ()  (b) BLAST ()  
 (c) M.S.    (d)  (Adobe) 

 

158.           : 
 (a) N (b) X1 (c) 1 X (d) X  
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159. Correlation coefficient is a number between – 

 (a) +1 and +2 (b) 0 and +1 (c) –1 and 0  (d) –1 and +1 
 

160. Sandwich ELISA is used for the defection of  

 (a) Antigen   (b) Antibody 

 (c) Both (a) and (b)  (d) None of these 
 

161. Which one of the following is not the part of ‘t’ test ? 

 (a) Significant (b) Non-significant  (c) Probability (d) Mode 
 

162. Western Blotting technique is used for  

 (a) DNA profiling  (b) DNA sequencing 

 (c) RNA transfer   (d) to separate and identify proteins 
 

163. Presence of ‘annular diaphragm’ is the characteristics feature of  

 (a) Compound microscope 

 (b) Phase contrast microscope 

 (c) Fluorescent microscope 

 (d) Electron microscope 
 

164. Following microscope is used to study living cells  

 (a) Scanning electron microscope 

 (b) Transmission electron microscope 

 (c) Phase contrast microscope 

 (d) Confocal microscope 
 

165. Data can be quickly generated with Random Amplified Polymorphic DNA (RAPD) than 

the RFLP techniques because  

 (a) Molecular markers of RAPD are efficient. 

 (b) Fewer steps are involved in RAPD analysis. 

 (c) DNA digestion is faster in RAPD. 

 (d) None of the above 
 

166. Hybridoma is a cell formed by the fusion of  

 (a) Plasma cell with a plasma cell of another species. 

 (b) T cell with a myeloma cell. 

 (c) Macrophage with a myeloma cell. 

 (d) Plasma cell with a myeloma cell. 



BLY 31 Series-A 

159.         : 

 (a) + 1  + 2 (b) 0  + 1 (c) – 1  0 (d) – 1  + 1 

 

160.   (ELISA)      – 

 (a)       (b)       
 (c)  (a)  (b)   (d)     
 

161.       ‘’      ? 

 (a)  (b)  (c)  (d)  

 

162. ‘ ’      – 

 (a) ...   (b) ...   
 (c) ...   (d)        
 

163. ‘ ’      – 

 (a)    
 (b)     (  ) 
 (c)    
 (d)    
 

164.           
 (a)    (b)    
 (c)    (d)   

 

165. ....       (RAPD)      
    – 

 (a) ....        
 (b) ....         
 (c) ....  ...      
 (d)      
 

166. ‘’   ,          
 (a)            
 (b)       
 (c)       
 (d)       
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167. Choanocytes or collar cells are found in the animals of which phylum ? 
 (a) Porifera (b) Coelenterata (c) Echinodermata (d) Arthropoda 
 

168. The macronucleus of Paramecium is : 
 (a) Polyploid and controls metabolism (b) Haploid and controls reproduction 
 (c) Diploid and controls metabolism (d) Haploid and controls metabolism 
 

169. What is the name of free swimming larva of Hydra ? 
 (a) Hydrula (b) Parenchymula (c) Stereogastrula (d) Planula 
 

170. Which of the following sub-phylum is exclusively endoparasitic ? 

 (a) Sarcomastigophora  (b) Sporozoa 
 (c) Ciliophora   (d) Cnidospora 
 

171. The flow of water in sycon type of Canal is in following sequence : 

 (a) Dermal ostia ® Prosopyles ® Osculum ® Apopyles 
  (b) Dermal ostia ® Apopyles ® Prosopyle ® Osculum 
 (c) Dermal ostia ® Prosopyle ® Apopyle ® Osculum 
 (d) None of these 
 

172. Match the Phylum in List – A with characters in List – B : 

List – A List – B 

A. Porifera i. Nephridia 
B. Annelida ii. Jointed appendages 
C. Arthropoda iii. Water vascular system 
D. Echinodermata iv. Canal system 

  A B C D 
 (a) iv i iii ii 
 (b) iv iii ii i 
 (c) iv ii i iii 
 (d) iv i ii iii 
 

173. Which of the following statement is not correct with reference to Herdmania and 
Amphioxus ? 

 (a) Both are marine. 
 (b) Both are microphagous. 
 (c) Both are ciliary filter feeder. 
 (d) Both perform retrogressive metamorphosis. 
 

174. Heteronereis is – 

 (a) The sexual phase of Nereis (b) Haematophagus 
 (c) Belongs to Oligochaeta (d) Belongs to Hirudinea 
 

175. Silk gland of silkworm larva is the modification of – 
 (a) Mandibular gland  (b) Wall of pharynx 
 (c) Labial gland   (d) All of the above 
 

176. Chitinous plates making the exoskeleton in arthropoda are called – 
 (a) Pleurites (b) Sclerites (c) Sternites (d) Tergites 
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167.                ? 

 (a)  (b)  (c)  (d)  
 

168.      – 

 (a)         (b)         
 (c)         (d)         

 

169.             ? 

 (a)  (b)  (c)  (d)  
 

170.            ? 

 (a)   (b)  
 (c)    (d)  

 

171.             
 (a)   ®  ®  ®   
 (b)   ®  ®  ®  
 (c)   ®  ®  ®  
 (d)      

 

172.  ‘’      ‘’        
  ‘’   ‘’ 
A.  i.  
B.  ii.   
C.  iii.    
D.  iv   

  A B C D 

 (a) iv i iii ii 

 (b) iv iii ii i 

 (c) iv ii i iii 

 (d) iv i ii iii 
 

173.                ? 

 (a)       (b)     
 (c)       (d)        

 

174.    
 (a)     (b)  
 (c)      (d)      
 

175.          
 (a)     (b)     
 (c)     (d)   

 

176.             
 (a)  (b)  (c)  (d)  
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177. Peripatus is a connecting link between –  

 (a) Arthropoda and Mollusca (b) Mollusca and Echinodermata 

 (c) Annelida and Arthropoda (d) Annelida and Protozoa 
 

178. Which of the following characters belong to the animals of Phylum Arthropoda ? 

 (a) Cold blooded with jointed appendages and closed circulatory system. 

 (b) Triploblastic, Poikilothermic with jointed appendages and open circulatory system. 

 (c) Stenothermic, triploblastic with jointed appendages and open circulatory system. 

 (d) Diploblastic, poikilothermic with jointed and open circulatory system. 
 

179. Animals of following phylum are all marine : 

 (a) Arthropoda (b) Mollusca (c) Annelida (d) Echinodermata 
 

180. Which one of the following is a mollusc ? 

 (a) Flat fish (b) Cuttle fish (c) Star fish (d) Silver fish 
 

181. Adults of which of the following phylum are radially symmetrical but their larval are 
bilaterally symmetrical : 

 (a) Annelida (b) Arthropoda (c) Echinodermata (d) Coelenterata 
 

182. The reason for including Balanoglossus in chordata is the presence of –  

 (a) Pharyngeal gill slits   

 (b) A stomodaeal diverticulum which is considered to be notochord 

 (c) A dorsal hollow nervous system 

 (d) All of the above 
 

183. Sphenodon punctatus is called as a – 

 (a) Missing link   (b) Connecting link 

 (c) Living fossil   (d) Reptilian ancestor 
 

184. Which of the following are poisonous ? 

 (a) Pit viper (b) Krait (c) Coral snakes (d) All of the above 
 

185. Musk is found in – 

 (a) Female musk deer  (b) Male musk deer 

 (c) In both male and female musk deer (d) Young female musk deer 
 

186. Member of which class possess the ‘Bundle of His’ in the heart 

 (a) Reptilia (b) Mammalia (c) Amphibia (d) None of these 
 

187. The causative agent of American foul brood disease of honey bees is – 

 (a) Paenibacillus   (b) Bacillus cereus  

 (c) Streptococcus pluton (d) Nosema apis 
 

188. Organism used in sericulture – 

 (a) Bombyx mori   (b) Drosophila melanogaster 

 (c) Apis mellifera   (d) Musca domestica 
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177.      
 (a)      (b)      
 (c)      (d)      

 

178.               ? 

 (a)   ,        
 (b) , ,        
 (c) , ,        
 (d) , ,        

 

179.         : 
 (a)  (b)  (c)  (d)  

 

180.          ? 

 (a)   (b)   (c)   (d)   

 

181.                   ? 

 (a)  (b)  (c)  (d)  

 

182.            – 

 (a)     
 (b)   ,        
 (c)    
 (d)   

 

183.      – 

 (a)   (b)   (c)   (d)    

 

184.        ? 

 (a)   (b)  (c)   (d)   

 

185.      
 (a)      (b)     
 (c)        (d)       

 

186. ‘  ’            ? 

 (a)  (b)  (c)  (d)      

 

187.          – 

 (a)  (b)   (c)   (d)   

 

188.         – 

 (a)     (b)   
 (c)     (d)   
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189. ‘Tasar’ silk is generated by the silkworm  

 (a) Attacus atlas   (b) Attacus ricini  

 (c) Antheraea assamensis (d) Antheraea mylitta 
 

190. Lac is secreted by – 

 (a) Tachardia (b) Bombyx (c) Antherea (d) All of the above 
 

191. In composite fish culture, the surface feeder fish is –   

 (a) Labeo rohita (b) Cirrhinus mrigala (c) Cyprinus carpio (d) Catla catla 
 

192. The medicinal use of bee venom is in the treatment of – 

 (a) Diarrhea   (b) Some form of Arthritis 

 (c) All form of cancer  (d) Wounds of bones 
 

193. Which of the following is a monogenetic parasite ? 

 (a) Ascaris lumbricoides (b) Plasmodium vivax 

 (c) Taenia solium   (d) Fasciola hepatica 
 

194. Human heart is – 

 (a) Neurogenic (b) Myogenic (c) Both (a) and (b) (d) Venous 
 

195. Shivering characteristic of malaria occurs when – 

 (a) Schizonts enter the RBC (b) Merozoites enter the RBC 

 (c) Signet ring is formed (d) Merozoites are liberated from RBC 
 

196. Which of the following stimulates the gall bladder to release bile ? 

 (a) Enterocrinin   (b) Duocrinin 

 (c) Cholecystokinin  (d) Vaso active intestinal peptide 
 

197. The ratio in the steady state of the volume of CO2 produced to the volume of O2 consumed 

per unit of time is termed as – 

 (a) Respiration   (b) Respiratory Quotient (RQ) 

 (c) Respiratory exchange ration (R) (d) None of the above 
 

198. Urea formation takes place in the body in – 

 (a) Liver (b) Kidney (c) Urinary bladder (d) Urethra 
 

199. The animals excreting urea are called  

 (a) Ammonotelic (b) Ureotelic (c) Uricotelic (d) None of these 
 

200. The nervous system develops from which germinal layer ? 

 (a) Ectoderm (b) Mesoderm (c) Endoderms (d) None of these 
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189.          ? 

 (a)     (b)    
 (c)    (d)   

 

190.       ? 

 (a)  (b)  (c)  (d)   

 

191.             
 (a)   (b)   (c)   (d)   

 

192.           
 (a)      (b)        
 (c)        (d)       
 

193.         ? 

 (a)    (b)   
 (c)     (d)   

 

194.     – 

 (a)  (b)  (c)  (a)  (b) (d)  

 

195.         – 

 (a)  ...      (b)  ...      
 (c)       (d)  ...      

 

196.                ? 

 (a)    (b)   
 (c)   (d)     

 

197.   , CO2       O2        – 

 (a)    (b)   (RQ) 
 (c)    (R) (d)      

 

198.        – 

 (a)   (b)   (c)   (d)   
 

199.        – 

 (a)  (b)  (c)  (d)     

 

200.         ? 

 (a)  (b)  (c)  (d)     

 


